Sectionl8.3,Problem27

Hereis abetterpictureof the gradientvectorfield for the problem.You might wantto print only thisfirst
pageandthensketchin thelevel curvesandpathof steepesascentsdetailedin the problembeforeyou
look atthefiguresonthenext threepages.
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Thelevel curvesthroughthetwo points(5, —5) and(8, 5) areshavn in this figure.
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Note the similarity to the solution

The next figure shaws the path of steepestscentstartingat (2, 6).

drawn ontheboardin class.
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Finally, heres alook ata graphof the function.




